Question Paper Preview

Question Paper Name: ENGINEERING 26th April 2017 Shift2
Subject Name: EMGINEERING

Display Number Panel: Yes

Group All Questions: No

Question Number : 1 Question Id : 1017174641 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Letf:A— Bandg: B — C be any two functions and gof: A— C is one-one. then

fiA—>B.g:B— Cen 237 Both padoiren, gof: A — C .8 o3 Hdohan, wond
Options:
fand g are both one-one

J- g ©0 Do esgso
f1s one-one and g need not be one-one
fe38 500, g 9dEsn =3S5860 B
g 1s one-one and fneed not be one-one
g wAED F°0), figEsn sHsddo B
both /. g need not be one-one

L oen Dok wacso 5RAN00 B
4 g :S

Question Number : 2 Question Id : 1017174642 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Match the following

& §od) TAD 2EH050

Function Range

Hhoto T8
i)  x—[x]. (xeR) a)  [0.2]
11) 4 — x> [|1 <2 b) [El}
| o 1.9]
111) B (xeR) c) |-l
iv) 3sinv — 4cosx + 4. (xeR) d [0.1)

Options:

1_i]—>d 1) —b 1m)—a 1v)—c

i) —a 1n)y—d 1u)—>c 1v)—b

k-2

1)—>d 1)—a 1)—>c V)b

[N ]

, D—>d n)—a 1u)—b 1w)—c

Question Number : 3 Question Id : 1017174643 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For any integer » > 1. the remainder when the expression »n° — 5n° + 4n + 139 is divided by
120 is

@ Jpwodo n =13, d5rHo n° — 5w +4n + 139 & 120 & graodm S8y 3o

Options:

19
19
3 29

4. 39

L2

Question Number : 4 Question Id : 1017174644 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



7T bl O - 2z .
If a =cos—+i smg then the value of the determinant (& I alis

s

o o 1
1l a a
T .. T _ _
o =COs—+isin— wond HTEEo ar 1 | Dend
3 3 i
& o 1
Options:
1 0
2 1
3 —4
4 4

Question Number : 5 Question Id : 1017174645 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The values of 2. and 1 for which the system of equations
x+y+z=6,x+2y+3z=10, x+ 2y + iz= p has infinitely many solutions are

x+y+z=6,x+2y+3z=10,x+ 2y + Az = 00F dDEdore 3§50 wdod Ddogrgs

ool 08 odEds fo A $dosn u o g denden

Options:

| A= u=T
, A=3.u=10
s =3, u=10

TR |
4 A=3.u=10

Question Number : 6 Question Id : 1017174646 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



If A:i

matrix; then Q is

=2 1 . . . : .
| i 4} and A= P+ Q. where P is symmetric matrix and Q 1s Skew-Symmetric
.

. :
A:{ } =P+ Q0" P e i Som@8, Q a8 I 1 5@ wond Q =

0 2}
=2 B

9
L1 o]

i
, -1 0]

Question Number : 7 Question Id : 1017174647 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The points P. Q denote the complex numbers Z,. Z, in the Argand plane. 'O'1s the origin. If
Z1Z, +2,Z, =0 and | POQ =6 then sinf=

ol dodns® P Q dothHen Z,, Z, E’Jogg Hopgodn drdodhithdd. 'O Sorododd.
Z,Zy +Z,Zy =0 S08050 |POQ= 0 wond sinfd=

Options:
l.

o]

Question Number : 8 Question Id : 1017174648 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



If Z=0 is a complex number such that Z* + Z|Z|+|Z |2 =0 then Z is in the set

(Here o 1s a complex cube root of unity)

2.8 2088 dowg Z=0 § Zz—:Z‘Z‘Jr‘Z‘E =0 w0hgLinod wHvd Z ot D08
(28,6 o 880 D08 MdSreo)

Options:

ey
(i1}
, 10,07

4+ @

L-2

Question Number : 9 Question Id : 1017174649 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If z;=—/3+7iand =, = —/3 —i then the principal amplitude of the complex number :—1
=)

15

-

Z ——J3+i and I, =3 —i wowd Ho8g Howg L G0g), PN eoird Jend
3

Options:

w | H

Question Number : 10 Question Id : 1017174650 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



For a non real root = of the equation =* + z* + 1 = 0. the value of

B 2 i3
. 0k
+[:——;—

o]

4
'...u| et
e
ek
u

( ] 2 1Y e .
L:+jJ H | H T 5| ooy deos
Z g \ z

Options:

=6

7 3

3 —8

4 8

Question Number : 11 Question Id : 1017174651 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Match the following

& ol 70 BE50HhSw

Quadratic expression The minimum value
DE DATDO 502 80
7
i) x*-8x+15 a) ™
i) x?—8x+17 by -1
iit] 25 +4e+7T c) 1
5% 7
V) S e B e d) 5
: 2 i 2
Options:

i Tp-—»g m—>b 1m)—d iv)—a

1) —a 1) —c¢c 1m)—d 1v)—b

L2

1) —>Db n)—-d m)—=c 1w)—a



i)—b 1) —c¢ 1)—d 1v)—a
4

Question Number : 12 Question Id : 1017174652 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

It f:]1.2] > R defined by f(x) = x* + 2kx + k is always negative then the interval in
which £ lies is

£ [1.2] >R J f()=x+2kx + b 65007, ©b Judydr anwrd 8o wHEHod
k€08 wodso

Options:

([ 4
=l
Lo

Question Number : 13 Question Id : 1017174653 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If one root of +¥ — 7x2 + 36 = 0 is twice the other. then the sum of those two roots is

¥ =Tx2+36=0 G3n§), &8 Soredn HEE Surerds Dok BEE, @ Dok Surere SnHo
Options:

1, 6

2.9

3. —9

oo

Question Number : 14 Question Id : 1017174654 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



If the roots of the equation x* + 3px” + 3¢gx — 8 = 0 are in an arithmetic progression then
2P’ -3pg =

2+ 3px® + 3gx — 8 = 0 @y dn§dsn BN Swrosuven wf woSFRS” ¢od
2p° —3pq =

Options:

1 8
—8
3 4
4 =4

L2

Question Number : 15 Question Id : 1017174655 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A question paper contains 4 questions each having 4 alternative answers. The number of
ways that a candidate can answer one or more questions 1s

&8 PN GE0eS” B8 BB 4 HergHdmodH aaranen OAS 4 BHeo S0d). a8 weigd a8
00" wod8ol A8 S HHOE ISrprdo |ToRHdn JrTre Sowg

Options:

| 255
1256
3 624
4 625

L-2

Question Number : 16 Question Id : 1017174656 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If 2 C,=(k* -3) "C,,, - thenan interval containing the values of k. is

-l CJ,,:(A‘E —3)"C,,, =03, k Jenden &0k e.§ wodso

Options:

, (0. 3]
{-2.—@ |
]

r+1

"

3



(o]

4.

Question Number : 17 Question Id : 1017174657 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the letters of the word “CAPITAL"” are permuted in all possible ways and the words are
arranged in a dictionary order. then the rank of the word “CAPITAL” 1s

“CAPITAL” @5 5t5065°0 w50°e)080 JB58) Hgren @), & HEorr JOES Hrres
D0t Bdos® w307, “CAPITAL” Ho Bos), 8¢S

Options:

1. 802

803

3. 7120

. 712

L2

Question Number : 18 Question Id : 1017174658 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The sum of the coefficients of the last 19 terms in the binomial expansion of (1 +x)*7 is

(1 +x)7 B3wg), 81H8 D860 D58 19 Hore Hegswe JndSw

Options:
L 236
937

38
Fi: =

4. 235 -1

Question Number : 19 Question Id : 1017174659 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If _is the /* term in the expansion of (27 + 4_"') and if 7, =77, then x =

; 8 .
{EI +4 ") DJBeS” 1S HSo L wysr, 1, =1, OB X =

—0

Options:
1

;
1. =



L2

i | =

|
| —

Question Number : 20 Question Id : 1017174660 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

¥ —3x+1 A B

'
s g : then B=
(x—1)(x—=2)(x=3) x-3 (x—1)(x-2) (x=1)(x-2)(x-3)

x> —3x+1 A B £ .
= - + wona, B=
(x=1)(x=2)(x=3) x-3 (x=1)(x=2) (x=1)(x=2)(x-3)

Options:

1. 0

2 1

g

4.0

Question Number : 21 Question Id : 1017174661 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

0 5 T AT R ¥ _aSx 5m
51114 —+ c054 §+ 5,111:F ? + cos4 + su14 + c054

L —

[T 4 I
+ COS =
8

+ .f:,iu4

Options:

-

1 2

1| e

b
oo da

Question Number : 22 Question Id : 1017174662 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

c0812° + cos60° + c0s84° + c0s132° + c05156° =
Options:

—3
4



k-2

!_AII
== < |x..~|

Question Number : 23 Question Id : 1017174663 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If sin(270° — x° ) = c0s292° then a value of x is

sin(270° — x° ) = €05292° wond x Bnd. 2.8 Jend
L

Options:

120
60

1

-2

L

s

Question Number : 24 Question Id : 1017174664 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The range of Sin~'x + Cos 'x+ Tan 'x 15

1

Sin~'x+ Cos™'x+ Tan 'x B0, 77§

Options:

[0.

Fig

-2

)
/

L-2

(0.7

{r 3?}
3_*—14

4 [0. 7]

Question Number : 25 Question Id : 1017174665 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If tanh?x = tan? O then cosh 2x =

tanhZ x =tan2 6 =ond cosh 2y =



Options:
, cos B

, Sin B

cos 20

Lad

sec 26

I

Question Number : 26 Question Id : 1017174666 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

mAABC.ifab:c=4:5:6.thencosA:cosB:cosC=

A ABC &° a:b:c =4:5:6 w008, wdyeh cosA:cosB:cosC=
Options:

y 12:9:2

, 6:5:4

3 71.8:9

4 14:11:6

Question Number : 27 Question Id : 1017174667 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A=7Y 1, (458
=—T4an
2 J 3t B

In a triangle ABC. 1f tan[ ] thena: b=

ron®d, a b=

! §i P
2.8 L@Eﬁjﬁm“ ABC E'E:i [aﬂl 4 B] 1 1 A+B

Z:THII
2 3 =

Options:
1 2:1

g
; 41

4 1:3

Question Number : 28 Question Id : 1017174668 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In a triangle ABC if 2r, = 3r, =7, thena:bic =

w8 @ebadso ABC &° 2r, =3r, =r, wond abic=

Options:



L3 =
fad ot
A

L
u..'l

4
54

'Jl

Question Number : 29 Question Id : 1017174669 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In A ABC. if S’ 1s the circumcentre and ‘O’ is the orthocentre then | OA+ OB+ 0C =

A ABC e5* °S’ 588058, ‘O’ moe80|tidn wonsd S OA+O0B+0C =
Options:

2(AS+BS +Cs)

2 OS

, 250
4 SO

Question Number : 30 Question Id : 1017174670 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

Let a, b and ¢ be non-coplanar vectors. If P, Q. R and S are four points with position
vectors —a+4b —3¢ . 3@+ 2b —5¢. —3a+8b —5¢ and -3+ 2b + ¢ respectively then
the ordered pair (x. y) of real numbers such that PO=x-PR+y-PS is

.E.E.F 2 Dgdoiren 50 HOFoNFod. Tl EJDQLQ)JJ REL R B @FS DBFen
Seosme —a+4b —3¢ . 3a+2b—5¢. —3a+8b —5¢. —3a +2b +T wond
.P_Qz.x'-ﬁﬁv-ﬁ wohgtnod T893 dogrg ESvoinpo (v, y)

Options:

s
(-1. 1)
A
s (D)

L2

Question Number : 31 Question Id : 1017174671 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Let @.b.7 beauchthm a=0.b=zo.axc=>b and p xz =7. Then
a.b.¢ oo a20.b26.axc=h. hbxe=a 'r{:ﬁ:ngé:m_a €770 w08 onro. @ :N-céu
Options:
- b\
0
_lal=|c
bl = {.f|
3.
4 €=0

Question Number : 32 Question Id : 1017174672 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

e o Bl TE N .
If @.bandc are vectors such that \n\ i H =1: bande are perpendicular: and the

projections of » andz on @ are equal then ‘H —b + F‘ =

DFaren 3T, ‘(_f—b +F‘ =

Options:

4

E

"

3 243
4 N10

Question Number : 33 Question Id : 1017174673 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the vectors p.gand7 are such that'( g x7 )x(Fxp)=37 then '[}7 Xq qXT FxPp|=

J69e0 P.g.F e (xF)x(Fxp)=3F B E0gEN0T) BHPd |Pxq gx7 7xp|=



1 6
39
4 12

Question Number : 34 Question Id : 1017174674 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If 7.g.7 are three mutually perpendicular vectors of equal magnitude and if a vector ¥

satisfies the equatiou.ﬁx((:?—ﬁ)x P)+ax((T-7)xg)+7x((¥—p)x7)=0 then ¥

D.¢.7 o Sordhy H3:85 HdIro §HA HEH G0 woworr 0% HOFen won, ¥ wd wE

508, Px((F=7)xP)+Tx((T-F)xq)+Fx((F=D)xF) =0 sH08572)

SyH608, wiyd X =

o
Options:
~(p-7+7)
. 4
ol e i S5
?{PJFG"—?‘}
3
—\p+2g+7F
3.4{;? q+7)
S
;{Pﬂjﬂ"}
i

Question Number : 35 Question Id : 1017174675 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Consider the following data:

Daily wage (Rs.) :

30-40

40-50

50-60

60-70

70-80

80-90

No. of workers :

17

28

21

15

The coefficient of variation of the above distribution of wages. if its standard deviation is
14.72, is

Sob ddroroedy HOMdodod,

e &7 (d7x.) [30-40 40-50 50-60 60-70 70-80 80-90
S0 Howg 17 28 21 1 13 6

i

2 deradd Ehadedo 14.72 wond, © Jpradd ddoaoso

Options:

, 14.73
5.23.73
26.91

4. 20.82

L

Question Number : 36 Question Id : 1017174676 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The mean deviation about the median of the numbers
2.3.520.17.15.13.11.9 T

2,3.5,20.17. 15, 13. 11, 9, 7 dopgoso Jodghso ESyarg S SRS

Options:

1 10
4.8
3354

4 3

L-2

Question Number : 37 Question Id : 1017174677 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Abox contains 4 black. 2 white and 6 red balls. Another box contains 3 black and 5 white
balls. Throwing an unbiassed die. a ball 1s drawn from the first box if either 1 or 2 appears
on the die-otherwise a ball 1s drawn from the second box. If the drawn ball 1s black then the
probability that 2 appeared on the die is

w8 DS 4 30, 2809, 6 JBD odhena)on. S8 DS 3 S0, SBI oK eITOD.
2,8 KJ:‘.‘Q% FOED F00D @0 1 B 2 7 3G DT S0 2.8 208D JonE DR

- 85008 BoES Y S0 WOBIBPMW. & J0E VONS VoS IVDB & PN 2 Iy

'rﬁOET‘SﬁB?ﬁ

L

Question Number : 38 Question Id : 1017174678 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If A. B and C are mutually exclusive and exhaustive events of a random experiment such

that P(4) == P(B) and P(B)=2.P(C) then P(4 L C)=

&8 O3eyins P a@rioess” A, BSdasn C H8H6 2304, (g dbdodhdr P(4)=—P(B).

| b2

P(B) =2.P(C) schgen ¢o8 P4 C)=

Options:

2,
L 13
q

9 13



ku
= ==
!JJ|"‘D u_.l|"'“-l

Question Number : 39 Question Id : 1017174679 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The probability distribution of a random varable X is

5,8 Dfijncﬁéijb}é SeTd X cﬁmﬁ& E&oaﬂ&gw Seresddn

X=%

!

(%)
LN
=]
o

PX=x) k 2k

L)
=7
S
=

Then the standard deviation of X 1s
wond X g E5 Jdeddn

Options:
11
7 3

3.4
W7

Question Number : 40 Question Id : 1017174680 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A die 1s thrown (2n + 1) times. The probability of getting 1 or 3 or 4 atmost » times on it 1s

w8 o8 2n + 1) ) DAL, I 1 87 3 8 4 foQom 1 ) oSE 08
DOBTH
Options:
1
|, B
1

e o |



7l
; 2n+4

| —

Question Number : 41 Question Id : 1017174681 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Avariable line through the point P(—1, 2) cuts the coordinate axes at A and B respectively.

If Q 1s a pomt on AB such that PA. PQ and PB are in a harmonic progression, then the locus
of Q1s

P(-1. 2) from cd a8 $O0W B9 JCEISTESNOS 600 A Hdasw B o 54
podaFod. PA, PQ 00050 PB e a8 irovd)§ FaS woBbiy AB D Q a8 Hodhd
w08, ¥HYE Q BE HoMHEo
Options:

-
L Y=
, x2+y2=1

; Y= 2

B g
L X =4

Question Number : 42 Question Id : 1017174682 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

—

. A ; i s .
When the coordinate axes are rotated through an angle Lo the positive direction, an

equation is transformed to x? + 12 — 6x + 8y + 21 =0. Then that original equation is

T : ;
QOTHE wgred, g8 Hdes’ E snd @domo dobm, &8 HAEG0IN
2 +32 —6x+ 8y +21 =0 H03GS TobHB = SO HAEGSM

Options:

| xP 4yt —TN2x++/2y+21=0
V22 42y —Tx+y+212 =0
, X4y —14x42y+21=0

G gy 7\/{5.1‘+\E1'+21\f: =0



Question Number : 43 Question Id : 1017174683 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The point on the line 3x + vy +4 =0 which 1s equidistant from ( —5. 6) and (3. 2) 1s

(=5.6). (3.2) © H08 H3rS Grdos® &od H660 3x+y+4=0 b Dok

Options:

Question Number : 44 Question Id : 1017174684 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If &, > k, are the two values of k such that the lines y— 3kx+4=0and 2k—1)x—(8k—1) y—-6=0
are perpendicular. then the equation of the line passing through (k. k,) and having the slope

(k_znl
tfrl,ﬁ

D6E0pen y—3kx+4=0.(2k—1)x—(8k—1) y—6=0 o0 w020 &oBtnosd k BNE), Go

Ry
Densen k> ko o8, (k. k,) how e [E Ten 08 HEFdyr D0
Options: |
| 3x+2y=0
5 16 —2p=23
5 12— 5y =17
, 6x+y=0

Question Number : 45 Question Id : 1017174685 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The m-centre of the triangle formed by the linesx=0.y=0and 3x + 4y =12 is

x=0.y=0 00050 3x +4y =12 dpod A0ydh BHadn GnE) woddEoiswn

Options:



"

{
1 ix 4

:(1-. 1)

"
o

Question Number : 46 Question Id : 1017174686 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

t~..l||—~.
ba | —

-2

L

o

The equation of the pair of lines 1s given by a second degree homogenous equation. If one
of them is perpendicular to the line x + 2y + 7 =0 and another line is parallel to the line
3x + 4y + 5 =0. then the equation of that pair of lines is

TodS S688 dDS5508 HDoEd0503 QRS HEEOP 0320/§350085° &8 $050y,
x+2y+7=0 8 wondomd, Ho@0E S0y 3x +4y + 5 =0 & HSrossSnm
&) hde w Bgrosoi) S V{0120 I3 bY

Options:

| 632 = Sxy + 42 =0

Question Number : 47 Question Id : 1017174687 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The lines 3x> + 8xy— 3y +2x—4y—1=0and 4x 3y—-2=0

3P+ 8xy—3?+2x—4y—1=0,4v-3y—-2=00pen
Options:
form an equilateral triangle

rd eI

D (Beherd) J6)ST00
forma right angled triangle

, ©oBE BELErd) JGYHI0D

=



form a right angled isosceles triangle
5 onfe Dby (&Ehard) bcﬁgcﬁa@o&;
are concuirent

4 BASTEN

Question Number : 48 Question Id : 1017174688 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the chord x +y =1 of the circle x* +1? = ¢ subtends a right angle at the origin. then a =

g

SFB0 x* +y*=a* o), ey x Ty =1, Hrododd 5§ ©owsrd) A0, a=
Options:

L 4

5 N2

3 1

4. 2

Question Number : 49 Question Id : 1017174689 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The angle between the tangents drawn from a point (4. 3) to the circle x> +32 —2x— 4y =0
18

2 -2 —4y=0e3 5308 (4. 3) DoY) S0k ADS HGPwe Dy St

Options:

02

Question Number : 50 Question Id : 1017174690 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



The equation of circle whose diameter is the diagonal of the rectangle with sides
x=4,x=-2,y=5y=-218

x=4x=-2y=5y=-2 o ghasvwor DA OF IHOPHSN DY), EGB0
TgdB0M e S HA0EGEBw
Options:

1 v +_1-‘2—2x—3.1'— 18=0

¥ +17+2x+3y—-18=0
1 +_1.'2 —2x+3y—18=0

, P —2+3y+18=0

Question Number : 51 Question Id : 1017174691 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If (3. —1) is one end of a diameter of the circle x* +3? — 2x + 4y = 0. then the equation of
the tangent at the other end of that diameter 1s

X2 +32 = 2x +4y =0 5)350 B0, 2.8 argdey w8 wodg Do (3. —1) wond, & agdd
508" wody Do ¢ ADS DB D80

Options:

L 2x+y—5=0
, 2X+y+5=0
L X+ 29 +5=0
, X +2y—5=0

Question Number : 52 Question Id : 1017174692 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The equation of a circle which touches the straight lines x + y =2. x — y = 2 and also
touches the circle x> +132=1. is

x+y=2x—y=2 35¢8pod H0osw x* +y2 =1 Jmd) Sea dyfod el SyHo
HanEdeo

Options:
5

{.T—!—JE)I_ +_1‘2 =

1.



(=32 (=) =2
(=2 +2=(V2-1)
2 +(y—42) =(v2+1)

4.

Question Number : 53 Question Id : 1017174693 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The locus of centres of all circles which touch the line x = 24 and cut the circle ¥* +1°=4a*
orthogonally 1s
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Question Number : 54 Question Id : 1017174694 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
The circles x* +17 + 2x + 3y — 7= 0 and x? 4+ 3* + 4x — Ty + 5 = 0 intersect at the points A

and B. The equation of the circle. having AB as a diameter is
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Options:
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Question Number : 55 Question Id : 1017174695 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



The locus of the point of intersection of the normals to the parabola x*> = 8y. which are at
right angles to each other, 1s
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Question Number : 56 Question Id : 1017174696 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A point on the parabola whose axis 1s parallel to the X-axis and which passes through the
points (0. 1). (3.0). (0.-2) 1s
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Question Number : 57 Question Id : 1017174697 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The product of the lengths of the perpendiculars drawn from the foci of the ellipse

2 .3
X .Y _ 1 tothe tangent at any point on the ellipse is
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Question Number : 58 Question Id : 1017174698 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the eccentric angles of the extremeties of a focal chord (other than the major axis) of the
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Question Number : 59 Question Id : 1017174699 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 60 Question Id : 1017174700 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the direction cosines of a line L are (pq. q. ¢) and the angle between the line L with the
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positive direction of the X-axis is —. thenp?: ¢* =
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Question Number : 61 Question Id : 1017174701 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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The circumcentre of the triangle formed by the points (3. 4. 5). (2. 3. 1) and (—1. 6. 1) 1s

(3.4.5). (2.3.1). (-1. 6. 1) DoHHosd ﬁﬁg@é ©ebasn a3nE), H050(EHEm

Options:
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The equation of the plane which 1s bisecting the line segment joining the points A(2. 3. 4).
B(—4. 1. -2) and 1s perpendicular to it. 1s
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Question Number : 63 Question Id : 1017174703 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 64 Question Id : 1017174704 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If f:(-7.7) — R is defined by f (x) = [x] for all x € (-7, 7), then the number of
discontinuities of /s

R&xe(-7.78 f:(-7.7) >R fx) = [x] = &6507 f DBog), ddyHswe Hopg



Options:
p 15

[
L

Question Number : 65 Question Id : 1017174705 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 66 Question Id : 1017174706 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

[

_1I X ;
If y=xTan l— . then ”i:
.T ; 1X
I T :
y=xTan~ 1‘ s (T
¥ = dx
Options:
2
X}
2. .D
| B
xy
2 .2
9. % TV
3



.‘l.lI

1 x(x+y)

Question Number : 67 Question Id : 1017174707 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical
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Question Number : 68 Question Id : 1017174708 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An angle between the curves x*y =1 and y(x* + 1) =2 is
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The function 7 (x)=x-¢""is
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Question Number : 70 Question Id : 1017174710 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The value of & for which the equation x* — 3x + k=0 has at least one real root in [0, 1] is
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Question Number : 71 Question Id : 1017174711 Display Question Number : Yes Single Line Question Option : No Option
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; y . X
A manufacturer can sell x items at a price of rupees [ Fed

100 ] each. The cost price of x

. .
items is Rs. (; +500 ‘ . The number of items that the manufacturer should sell to earn the
\ < /

maximum profit is
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Question Number : 72 Question Id : 1017174712 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

an’x = Ax+ Blog‘sm( x —E;'J| +C=(4.B)=
Y sin(x—b)
Options:
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Question Number : 73 Question Id : 1017174713 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f log, x dx
" (1+log, x)
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Question Number : 74 Question Id : 1017174714 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 75 Question Id : 1017174715 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 76 Question Id : 1017174716 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

[ y

: 1 1
lim 4+
i l_w’ 4 -1 Nan® -2

Options:

—
k

|
: - +———t =
2 2 > 2
\/4:?‘ —3° An= —n-

[-2

a,

() |

L | M

L2

Ll
B T S

Question Number : 77 Question Id : 1017174717 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If‘[jlf{ x)dx = 4 and [j(.%—f{x}}ffx —7 then fflf(x)ffx =4
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Question Number : 78 Question Id : 1017174718 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

) ; ' o AT 5w
The area (in square units) enclosed between the curves y=siny and y = cosx for Fy <x< 7
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Question Number : 79 Question Id : 1017174719 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The differential equation formed by eliminating A and B from Ax> + By? =11is

Ax2+By? =1 %00 A. B o SofoSir $3) w5808 H08E00
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Question Number : 80 Question Id : 1017174720 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



If the form of the solution of the differential equation

4 d y
[j.r3 + x]—l =3y wheny(4)=21s1v*=ax +b. then 4a + 120> =
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Question Number : 81 Question Id : 1017174721 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If A, B. C and D represent velocity. acceleration. inductance and capacitance respectively.
then A= BCD has the dimensions of
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Question Number : 82 Question Id : 1017174722 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The distance covered by a stone dropped from the top of a building in the last second of its
motion 1s 0.36 times the total distance travelled by it. The height of the building is
(acceleration due to gravity = 9.8 ms—)
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Question Number : 83 Question Id : 1017174723 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A body is projected into vertical X-Y plane with X-axis along horizontal and Y-axis along

vertical with an iitial velocity (10 i pj) It the maximum height reached by the body 1s
50% of its range. then the value of p is
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Question Number : 84 Question Id : 1017174724 Display Question Number : Yes Single Line Question Option : No Option
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Two bodies are projected from points (0. 0) and . (\E —1. 0) with velocities 10 ms—1 and
v s~ respectively. as shown in the figure. The time after which they collide in space 1s
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Question Number : 85 Question Id : 1017174725 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two cars are moving on a banked circular path of radius 8 m having angle of banking 45°. If
the coefficients of static friction between the road and the tyres of the two cars are 0.5 and
0.4 respectively. then the ratio of maximum permissible speeds of the cars to avoid

slipping 15
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Question Number : 86 Question Id : 1017174726 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two unequal masses ‘A’ and ‘B’ moving along a straight line are brought to rest by equal

retarding forces. If A’ takes double the time taken by “B’ to come to rest and “A’ travels
2

3
and ‘B’ 1s

rd of the distance covered by ‘B’ before coming to rest. then the ratio of masses of *A’
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Question Number : 87 Question Id : 1017174727 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A car of mass 1000 kg has a motor of efficiency 20%. If bumming of one litre of petrol
supplies 6 107 J of energy. the amount of petrol used in accelerating the car from rest to
3.2kmh s
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Question Number : 88 Question Id : 1017174728 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two identical balls A and B of equal mass are lying on a smooth surface as shown in the
figure. If ball ‘A’ hits ball ‘B’ at rest with a velocity 16 ms—1, then the co-efficient of
restitution between A and B so that B just reaches the highest point of the smooth inclined
plane is (g =10 ms-2)
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Question Number : 89 Question Id : 1017174729 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Three circular discs of same material and same thickness of radii r. 2r and 3r are placed on
a horizontal plane such that their centres lie along a straight line. The radius of the middle
disc 1s 2r and it touches the other two discs. The distance of the centre of mass of the
system from the centre of the smaller disc 1s
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Question Number : 90 Question Id : 1017174730 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A solid sphere rolls down without slipping on an inclined plane of angle of inclination

Sin~! (EJ . If the acceleration due to gravity is 10 ms—2. the acceleration of the rolling

50
sphere 1s
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Question Number : 91 Question Id : 1017174731 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



A particle starting from mean position executes simple harmonic motion with a period 8 s.
The mmimum time in which its potential energy becomes half of the total energy is
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Question Number : 92 Question Id : 1017174732 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The masses of two fixed spheres are M and 2M and the radius of each sphere is R. Their

centres are 10R apart. The minimum speed with which a particle of mass M be projected

10

from the mid-point of the line joining the centres of the two spheres so that it escapes to

infinity 1s
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Question Number : 93 Question Id : 1017174733 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

One end of a steel wire of radius 1 '1s fixed to a ceiling and a load of 3 kg 1s attached to the
free end of the wire. Another wire made of copper of radius “2r’ is attached to the bottom
of 3 kg load and a 2 kg load is attached to the free end of the copper wire. The ratio of
longitudinal strains produced in copper and steel wires 1s

(Young modulus of steel =20 10'° Nm-2)
(Young modulus of copper =12 x 10'° Nm2)
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Question Number : 94 Question Id : 1017174734 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In S.I. system. the total energy of the free surface of a liquid drop 1s 2x times the surface
tension of the liquid. The diameter of the drop is
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Question Number : 95 Question Id : 1017174735 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If equal masses of 10 liquids of specific heats s. 2s, 3s. ........ 10s at temperatures
1€, 206%. 30 ... 100 °C respectively are mixed, the resultant temperature of the
mixture 1s
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Question Number : 96 Question Id : 1017174736 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two closed containers of same dimensions made of different materials are completely
filled with ice. The ice in the first container takes 20 minutes and that in the second container
takes 10 minutes, respectively for complete melting. The ratio of the thermal conductivities
of the materials of the two containers 1s
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Two moles of helium gas ( ¥= ;J at 27 °C 1s expanded at constant pressure until its volume

is doubled. Then 1t undergoes an adiabatic change until the temperature returns to its initial

value. The work done during adiabatic process 1s

(universal gas constant = 8.3 Jmol1 K1)
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Question Number : 98 Question Id : 1017174738 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

On tripling the absolute temperature of the source, the efficiency of a Carnot’s heat
engine becomes double that of the initial efficiency. Then the initial efficiency of the
engine 1s
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If vy 1s the speed of sound in a diatomic gas at 273 °C and v, 1s the r.m.s. speed of its

LT
molecules at 273 K. then —L =
V)
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Question Number : 100 Question Id : 1017174740 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

When a train is approaching the stationary observer. the apparent frequency of the whistle
of the train 1s n; and when the train is moving away from the observer. the apparent frequency
1s 1,. The frequency of the whistle noticed by the observer when he moves with the train

15

@8 Do JF R8S wd) DoIosa DaDB)Dvds Den Sre BwE) GyFy Fdndgo
1) 8050 Bew HFwBE ol Srdom FPKIyh Syfy FHd 00 Ny D8It
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Options:
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2nyn,

1,11,
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Question Number : 101 Question Id : 1017174741 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The depth of the sea measured by means of an echo. If the time between the moment of the
sound produced and recetved is 3.52 s. then the depth of the sea 1s

(The compressibility of sea water is 4.84 = 10-10m2 N-1 and its density is 1024 kg m=) is

DB DEBS® HI0EDY ' SPrc BoSBHE> B GG DS BJSPE, DBIGB

i ol SMI WAGNE Hody Frodgdd 3.52 s wond JdEY T

(850159 VS Boddgs 4.84 x 1010 m2N-1 S08050 & IS Fod 1024 kg m™).

Options:

. L.5km
,» 1.9km
;3 2.5km
4 2.9km

Question Number : 102 Question Id : 1017174742 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A plano convex lens of material of refractive index u, exactly fits into a plano concave lens
of material of refractive index (,. If R 1s the radius of curvature of the curved surfaces of
the lenses and the plane surfaces of the lenses are parallel. the focal length of the combimation

]

STy 5182558 oo g Ho 28 8w Koers s o Hd JBLSS o ) Ko o8
DSode YPirsd ELE0S” SO wBddod. u fhse SEdore S Tgrdo R Sodado
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Question Number : 103 Question Id : 1017174743 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In Young’s double slit experiment. the slits separated by 0.6 mm are illuminated with light
of 6600 A . Interference pattern is obtained on a screen placed at 4 m from slits. The
minimum distance from the central maximum at which the average mntensity is 50% of the

maxiunumn value is

coofi Br-0ds @Arhed® 0.6 MM F 3D Toads VOTu 6600 A §06% 508 B
HEHo DF. VOB Ho0d 4m Srdod’ o B S5888m gt Formd. Sodod
f0H0 Sood Bifdw S8 18R JendS® 50% vddy DohIR Ho EAQ Erdo

Options:
. 0.21 mm

, 2.1 mm

-

N 0.11 mm

4 1.1 mm

Question Number : 104 Question Id : 1017174744 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

Two identical simple pendulums each of length 5 cm are suspended from the same support.
When the bobs are given equal charge of 2 uC each. distance between the bobs becomes
6 cm. Mass of each bob 1s (g = 10 ms—2).

SR IrIPoS Bodo oINTUsTLI wB BEFEHN H0d VIHT (PBUrEHRDE; 0.
a8, R EY Scm 57 Ao w8y o 2 uC %3%‘““_,‘1 RWRVYW, TR gy Soedo
6 cm &8 PHdoo ($Sgo (g = 10 ms=)

Options:

4

~ ke
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Question Number : 105 Question 1d : 1017174745 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
‘N’ point charges are distributed into two groups and separated by a fixed distance. Then the

ratio of maximum to minimum forces between the two groups 1s (N 1s even and greater

than 2).
N’ Sodh sdrod ok Hreom JgfLod Ioh) Sr8hnd
20 Dopg Hodoin 2 ¥l J8D)

Options:

(N-1)°

AN?

4N
2 N1
NE
4(N-1)

3.
2

2N?

Question Number : 106 Question Id : 1017174746 Display Question Number : Yes SingleLine Question Option : No Option

4.

Orientation : Vertical



Three charges Q. +q and +q are placed at the vertices of a right angled isoscels triangle as
shown in the figure. If the net electrostatic potential energy of the system 1s zero. the value
of Q 1s

Q. +q H0bddn +q e St eHT

o0 & Hsosm e300 0w
ke kol

Options:

T
1.3‘*’\1',E
+

2, —+\/_

+

3 2+\/_
+~/_
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A fully charged capacitor of capacity ‘C’ is discharged through a small resistance wire
embedded in a solid block of specific heat *s” and mass ‘m’ under thermally isolated

conditions. If the temperature of the block is raised by AT. the initial potential difference
across the capacitor is

‘C7 3708 do, o e3dyrodo Dobwad SFRLl ef &3S o HyI5°EH e
argoe ﬁ%oﬁaoﬁ DONEIS HEYEYT BTIFIIRIYPE, B GTISSR DO DG
AT, &35 238050 ‘s 50800 (B550°8 ‘M’ wond, 3FH6LE 1 o &0 FBIHS B

Options:

(msm T

l. C
(zmsm]}’ﬁ

\ C

msAt

Question Number : 108 Question Id : 1017174748 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A straight conductor of uniform area of cross-section carries a current “I'. *s” 1s the specific
charge of the electron. The total momentum of all the electrons per unit length of the
conductor due to drift velocity 1s

2808 HodgHs ITego o 8H T8 8 dbod Jdgs o T QOES JIT Y0
ST wand 3] Jo dod TEEed” Pire FEHH o) Jogee Sod Q63 Iwgo
B350

Options:
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Question Number : 109 Question 1d : 1017174749 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘0" identical cells each of emf E and internal resistance ‘r’ are joined in series to form
atow. ‘m’ such rows are joined in parallel across a load resistance R. The current in each
cell 1s

2588 emf E, 0086 367680 T o $6(d8r8308 N odres: @68 §0rd. etndodd
m’ 3Hd0d R Egadordd ddooddom 0. af) Dbod” Jgd Dardrdn

Options:

nkE

1T
—- R
;. In

_nkE
. nr+mR
mkE

mr
—+R
3 11

E

nr
— R
4 m

Question Number : 110 Question Id : 1017174750 Display Question Number : Yes Single Line Question Option : No Option
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Two infinite long wires each carrying a current 10 A are bend to form a right angle as shown

in the figure. Then the magnetic induction at “O’ 13 [pﬂ =47 x1077 Hm_]]

w858 10 A Dgd ParFos 0D vlod FEY Ko Body afol SLod’
Hred Ao wowbwo bfﬁgcﬁarﬂﬁ}i Sofady. wonsg O .':ﬁié ©aio) 08 f;}c‘iz‘a

W = ~Hm™
| Ho = 4mx10 ‘

> Tm e
Options:
. 141037
AT
3% Ie%F
4 0

Question Number : 111 Question Id : 1017174751 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A galvanometer of resistance 10 €2 changes its range from 1 mA to 101 mA when a resistive
wire 1s connected in parallel. If the resistivity of the material of the wire and its area of
cross-section are 1x107° Q m and 1 mm? respectively. then the length of the wire is

10 Q ATG0 o mrerd it o8 IGEDH ard ddroddomr 008 TR gy 1 mA
sood 101 mA § D8ASE. ATEDH &1 Slapdele GBog), ATEES oSN T FgEE
Brergon SEbm 1x10° Q m Sbatn 1 mm? sond & 85 369 |
Options:

10 cm

f—

lcm

[

20 cm

Lad

415 cm

Question Number : 112 Question Id : 1017174752 Display Question Number : Yes Single Line Question Option : No Option
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Two short bar magnets of moments ‘M’ and 1,/3\[' are joined like a cross (+). This cross

is suspended from its centre with its plane horizontal in the earth’s magnetic field. When
the cross comes to equilibrium. angle made by the weaker magnet with the earth’s magnetic
field By is

M’ 508050 '\[FM!' €05 08 @rsen Ko Both & SoTchdoees 0 (+) 58
@Eﬂgozﬁa&;m. & Sogy, Do) Nod o dwbdw §8x Jdrodlom ﬁmd&;‘f}@g 2l
o008 G0 DR BorddF. HHeRs IS SHTd, poTd vohIodo,
do e 08 o By s® Bokn Fwo |

Options:

. 30°

) 45°

g 10

4. 60°

Question Number : 113 Question Id : 1017174753 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

A circular wheel with 10 spokes with its plane vertical along East-West is rotating about 1ts
natural axis with a uniform speed 100 revolutions per minute in the earth’s magnetic field.
Radius of the wheel is 0.3 m. If the emf induced between the centre of the wheel and the
rim is 31t V. angle of dip at the place 1s

(Vertical component of the earth’s magnetic field By, =15 uT)

Frgargaos 0.3 m Sodcin 10 odgen (spokes) Ao Syersd S0 &S godn G
c"dma’g}rr aﬁ?ﬁ:ﬁj-édﬁéﬁ:d GIS” Goddin, 85 ddra wgoddomr Jrds 100 bl
868 H6E" P wdhd o8 FFoS |Phmo BaSnHHB. IEo So@o Hbdsn wohw
D&y (@08H0&g dwre (emf) Deod 31 UV wond, & @HEISw 3¢ odrd 0o

(& wohdn oé 3 §8x wowrodo By =15 uT)
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Question Number : 114 Question Id : 1017174754 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

A cuirent of 4 A flows in a coil when connected to a 12 V d.c. source. If the same coil 1s

25
connectedtoa 12 V. | —

JHZ a.c source. a current of 2.4 A flows in the circuit. The
T

inductance of the coil 1s

E.'.l

§ & Do 12V d.c. 28508 803096 ariehdy ow 4 A Dogdy (D508, @8

25
brisotads 12 V., (—
i it

JHZ fo a.c 255708 §ORINYE Sochdns® 2.4 A ddgd
B558008. wond &K meé; B0 E), [”;:ﬁéa"’
Options:

, 100 mH

, 80 mH
60 mH

4 50 mH

L

Question Number : 115 Question Id : 1017174755 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A plane electromagnetic wave of wavelength 3.0 m travels in vaccum along the positive
X-axis. The electric field of amplitude ﬂ]D Vi GSCiH*HE‘S parallel to the Y-axis. Then the
intensity of the wave is (=471 » 107 Hm!, ¢ =3 = 10° ms-1)

3.0 m $8oii@Ego o al dPde Jghchadnod Sofo THgod” G X-wio Hoa
Rodreddood. z;é DogSs gigo 300 V! 058 58088 Y-0508 dSroddorn §ohdod.
wond u ddofic GnE) PNs

(Lp=4m > 107" Hm!, c =3 < 10° ms1)

Options:

, 1194 Wm—2



, 109.4 W2
; 1294 Wm2
4 1 Wm—2

Question Number : 116 Question Id : 1017174756 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

The ratio of de-Broglie wavelength of molecules of hydrogen and helium which are at
temperatures 27 °C and 127 °C respectively is

27 °C Hobasw 127 °C ePde 5& &) r@Eas S0ddin rdaio e Sprod
8ol Boge AN

Options:

| 23

) 24243
2 N3:242
s N2 143

Question Number : 117 Question Id : 1017174757 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

If ﬁ.lL is the difference between shortest and longest wavelengths of Lymann series and

Lad

',&RE is the difference between shortest and longest wavelengths of Balmer series. then

Ak
&}'-'L

Options:

, 2.4
48
72
4. 9.6

L2
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Orientation : Vertical



A heavy nucleus having mass number 200 gets dismtegrated into two small fragments of
mass numbers 80 and 120. If binding energy per nucleon for parent atom 1s 6.5 MeV and

for daughter nuclii is 7MeV and 8 MeV respectively. then the energy released in the decay
will be

BSgoe8 Sopg 200 m DS ¥ rdBoEhn |$Sg0ed Sopg 80, ($hgord Qopg 120
é@éﬁ Doty e dpobido Todod. fmé; D8ETY (98 a:r“5§o:i?5§ 220658 45
6.5 MeV, Joid& Sodotds Sodm 7 MeV, 8 MeV wond, & ddsd Hiiches’ ddode
wond 3§

Options:

| 200 MeV
, 120 MeV
220 MeV
, 180 MeV
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Question Number : 119 Question Id : 1017174759 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In the following circuit. the power dissipated in the zenar diode 1s

§08 Sochdnd’, BS EATrES” Bodigaod FBggo

B

10002
422"

| 12V

Options:

L 0.12W
, 0.18 W
; 0.24 W

, 036 W

Question Number : 120 Question Id : 1017174760 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical



Match the following :

List-1 List-1I
(Signal) (Bandwidth)
i)  Speech Signal a) 4.2MHz
11) Music Signal b) 6MHz
1i1) Video Signal ¢) 20KHz
iv) T.V.Signal d 2.8KHz

& (508 T BSSIL0DN

588 - T 5% - 11
(Pos&0) (58 Sden)
1) Srerd Sosdo a) 4.2MHz
1) Hohd Jo8do b) 6MHz
iii) DE&r voddo ¢) 20KHz
iv) T.V.dc880 d) 28KHz

The correct answer is
BEGS HECGUHB0
Options:

| 1-c. 1i-d. 11i-b. v-a
, 1-a. 1-d. 1i1-b. iv-c
; 1-d.  11-c. 1-a. wv-b

, ib, ii-a. iii-d, ivc

Display Number Panel: Yes
Group All Questions: No
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Orientation : Vertical



If the radius of electron in the excited state of He™ is 0.4232 nm. the energy of electron in

that excited state n J 1s :

(The radius and energy of electron in the first orbit of hydrogen atom are 52.9 pm and

—2.18x10718 J respectively)

He™ @08, D o:e_aej"’nj Q@L‘SFE Wgéﬁéo 0.4232 nm 'wc:m:iaﬁ Wl &8 —:r 165%8)

JOF 9§ ] of

(TEaS H65re09 DS 883 agPrgo, 9§ SGdm 52.9 pm, —2.18x10718 J)

Options:

| —5.45%10717
—5.45x1071°
5 5.45x1018
4 5.45x10718
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Question Number : 122 Question Id : 1017174762 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The wavelength (in m) of a particle of mass 1.67<107>7 kg moving with velocity of
3.97x10°mstis:

3.97x105 m s~ SK08® Ehensrd) 1.67x1072/ kg (555078 e Swmo o), SEok B¢ go

(m ee5%)
Options:

 1x10713
1x10-11
2x1071
5 2%
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Question Number : 123 Question 1d : 1017174763 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following statements is not correct ?

808 DSBS HOFHE T°AB H?

Options:



First ionization enthalpy of nitrogen 1s greater than that of carbon

o

ETBS PED woHIETD 0T STHS §oB I
Electron gain enthalpy of oxygen is greater than that of sulphur
820 IO (T 0779 DG SoB JEYI

Tonic radius of Mg ™ is greater than that of AI¥*

Mg™ eosras argrdsn AP 808 J8y,3

Electronegitivity of fluorine is greater than that of oxygen

PO BNy 8 es§imd S0B ABYD

Question Number : 124 Question Id : 1017174764 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

Match the following :

Bod 7R 2EDCEHSW

List-1 List-1I
e - erdie -1
a) spd® i) PFs
b sp? i) [Ni(CN),J2-
¢) spid iii) BiFs
d) dsp? v) CHg
v GH,

The correct answer 18
DB &N BArorHSm

Options:

(a b (© (@

v ® 31 m

@ @® @© (@

m w1 i

1



(@ @® (c) (@
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n 1 1 W
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Question Number : 125 Question Id : 1017174765 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

Identify the correct statement(s) from the following
a)  Dipole moment of NH; 1s more than NF;

b)  SF, is square planar

¢) SaCly 1s more covalent than SnCl,

d) InH>SO,4 sulphur atom has expanded octet

8o 770" HoK HICeoid HYowHDdw

a) NHjz8¢6)S5 @rdogan NF; 08 2895

b) SFy $od ddde domresnd §0A ok

¢) SnCl; 0% SnCly& =48 doBradoh dgerso b

d)  H;S04H06 He)5 HESranhsss D500 wiso Soh

Options:
. a.b

2 b.c.d

3 a,c.d
s &b

Question Number : 126 Question Id : 1017174766 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following statements is not correct ?

808 JSCeS® A6 HOGBHE 5 &7

Options:



The magnitude of the surface tension of a liquid depends on the attractive forces of
the molecules.

— wl =3
2) U 830068

Boro Soddgd H0Srwo 9o wifn vory

The surface tension decreases as the temperature is raised.
& QIS DOMDEOE Sy SHH08

Liquids tend to rise in the capillary because of surface tension.
doddgs sdom, BI85 08 (Fare w6 akihdod
On flat surface. liquid droplets are perfectly spherical.

i A8 ochen QI 0o ¢ Hodrd Fesdorr Godron

Question Number : 127 Question Id : 1017174767 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

One litre of 0.15 M Na,SOj; aqueous solution is mixed with 500 mL of 0.2M K,Cr,04
aqueous solution in acid medium. What 1s the concentration (in mol L1 of unreacted
K,Cr,05 m the resultant solution ?

28 905 0.15M Na,SO; so@@srq), @) oirdgod® &b 500 mL 0.2M K,Cr,0,
BoIrHear0s 0. bﬁgg @S0 $dgFosd KyCr07 méEs (mol L e¢5) dog?

Options:

1
3

L2

x
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1

00
L
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L
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Which one of the following involves decrease in entropy ?

% 1800 T BT JoETH SHe0s?

i
Options:



2 N : +

2 7 4

. ‘NHHCOS{WJ) HNHEC 03 () o COE (=) . HED[J}_:I
CCly,, —CCly,
CCly,, —CCly

L2

21y + 2HCl 4 —"ZHC‘?Z{WJ +Hj(g)
) ngg,y +2HCl ...y ——> ZnCl, by Hy(>y

CH.O(S) + (‘02{33 —}Cﬂc{:)g(s)

CﬂO{qJJ) +C02 HCHCO:}}“_&)}

4 ()
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Orientation : Vertical

If K- for the equilibrium reaction 2ABC(g) —=2AB(g)+ C>(g) is X at T(K). its Kpat

the same temperature 1s :

T(K) 54, .E*ABC{EF}::EP&B(F)+CE () D=8 S6g%0, Ke=X WoNHBd, i

&g 38 o0 Kp
S =
Options:

 Xq
, XRT)

Xe
3.0 1

XT
s R
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Assertion (A) : Forevery chemical reaction at equilibrium. standard Gibbs energy change
of the reaction is zero

Reason (R) : Atconstant temperature and pressure chemical reactions are spontaneous
in the direction of decreasing Gibbs energy.

Ao (A)  : IDeRS 3G B8 oD PGB, PHire Hh) 9§ Srdy o).
50w (R) RO eard, SHesdo 3¢, Grod Segen A #§ &0 HFS® *?5@&)%31%&0.
Options:

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

| (A) 308050 (R) &0 Todkr 003, S06050 (R). (A) 8 300308 9S50
Both (A) and (R) are correct but (R) is not the correct explanation of (A)

i (A) 58080 (R) e Bodr 3003052, 570 (R). (A) 8 30508 D580 576
(A) 1s correct and (R) 1s not correct

, (A) 00058 &0 (R) 505088 5765
(A) 15 not correct but (R) 1s correct

4 (A) 38358 57 570 (R) H060088

Question Number : 131 Question Id : 1017174771 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

The reaction in which dihydrogen 1s acting as an oxidising agent 1s

Bob @ BG5S FrE e w§E6B8m HAITK06.
Options:

2+ +
Pd (m}.} + Hz{g} de(ﬂ} = EH {ag)

e +
1 Pd I:EBF}} +H2{_n} de(&) +2H (

CuOy) + HE{E} —>Cuggy + HyO

CuO  +H, —Cu  +H,0p,
_ (w (22) 2

) (=)

ZNH(S) -+ Hg{g} HENHH(S}

ENH(,‘W) + HE{:-) HENHH{;}



O +2H2I{g —:'EHEO{:?)

2(g) )

2 9
) Oz(r} +_H2(F} H_HEO(?]

Question Number : 132 Question Id : 1017174772 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

Which one of the following ions participates in the production of ATP from the oxidation
of glucose?

Hr8'8 w8800 Joh ATP Sosrbes® e wosrdd, o a°8e* 267
Options:
| Na®

& a
’ ﬁ_a_

5. F€

4, KF

Question Number : 133 Question 1d : 1017174773 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following is not correct regarding Orthoboric acid ?

©§2°08 wSro8 dowodod Bob et I8 HOHSE §7E?
Options:
Orthoboric acid can be prepared by the reaction of HC1 with Na;B40O-

Na,B40, & HCl & S6gmraod) gz 08 esdyrd) Sosrd DohSsSy)

Orthoboric acid contains planar BO; units.

w0608 95908 SHde BO; chrdiy wodron

Orthoboric acid releases three H™ ions in water.

HEBS* 5508 wio Sord H wairIed ddde Dands

Orthoboric acid when heated above 370 K. forms HBO, which on further heating
forms B-0;.

w&25°08 wi7d) 370 K & 28 36 SHdHd HBO, a6\deos. HBO, £ mos 3@
DH5H % By03 2806
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Which one of the following statements is not correct?

8oh DIBeS® A& BOFGSE §7H?

Options:
Hydrolysis of (CH;),S1Cl, gives product which undergoes condensation
polymerisation to form long chain silicones.

(CH3),SiCl, & 203340 08058 I6)AS ed)f)dn 05088 wendondsdoo
Bod EID Fende HOFIOIToL
S10, 1s soluble in HF.
, HF ¢5° S10, &omheod
Hydrated zeolites are used as ion exchangers to reduce the hardness of hard water.

35 BB0THOKD $85200 §65a7¢R) SH0UEETAS woIrD DNB0STe0H DA

Water gas contains about 40% of CO».

T8 mrgRes® drdy 40% CO; sodnod

Question Number : 135 Question Id : 1017174775 Display Question Number : Yes Single Line Question Option : No Option
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The COD of water sample 1s determined using

at) Fgond cng), COD O 6D &HBFH0D Do

Options:

50% H,S0, . K,Cr,07
50% NaOH . K,Cr,0-
50% CH;COOH . KMnO,
50% H,S0, . FeSO,

1.

L2
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Which of the following statements are not correct ?

a.  The energy of resonance hybrid structure is higher than that of the possible canonical
structures of the molecule

b. When inductive effect and electromeric effect operate in opposite directions,
electromeric effect predominates

When the & electrons of the multiple bond are transferred to that atom to which the
attacking reagent does not get attached. it is knows as +E effect

]

d  Theresonance structures with separation of opposite charges are more stable.

§08 T7¢385° HOIHS ISCen FAD DD?
A  0FRY D086 HUTE0 F8, wenHsH Jochy SINES Qoo 08 J8),S
b. (@008 ardo 005w JoFH0E Perdo S§E08 OFS° Ny, JoFR08

YErN0 WHHDIN0H

e

Q@@j;’i 22068 e 0w) 5°F50 oo ;"ij&j_{jﬁ DO JY5°E C0F HODTE0)

Fed A

3 2008 > +E pPerdo wotrd
d asgmaTes 338 887 dopEre PoEto I8YS

Options:
, a.c.d

ed
;. byed

4. 2.0.€¢
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Which one among the following undergoes dehydrohalogenation most readily?

808 Tri3eS" wd SiST ATPE TS EIND Dok 28?
Options:

| (HsC),CH-CI
(H3C),CH-I
(H3C),CH-Br
e

]

4
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Orientation : Vertical



The trend in acidic behaviour of the following hydrocarbons is

Bod TEs R W) Hgard (ES0

HC=CH CH=CH, CH;-CH; CH,-C=CH
a b C d

Options:
e Zd>=a=b

,cd>Fax=b>e
ad>=h>¢e

4b:}a_}d?}c

Question Number : 139 Question Id : 1017174779 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An element with molar mass 2.71072 kg mol™! forms a cubic unit cell with edge length of
405 pm. If its density is 2.7+10° kg m™, the nature of cubic unit cell s :
(N4 =6.02x10%3 mol 1)

2.7%107% kg mol™? 3rer6 (55073 e Soredo, 405 pm o 6D e 8 0D
DED IEYHH06. T Fos 2.7x10° kg nr wonSHB 508 0hrdEl DS H5arSo 6?7
(N =6.02+10% mol™!)

Options:
face centered cubic

Se¥ SoHh¥ Hdo
simple cubic

@8 Dodo

L2

body centered cubic

wod80|68 Hdo

L

end centered

wodgso@e S0

Question Number : 140 Question Id : 1017174780 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



At T(K), the vapour pressures of two liquids. heptane and octane are 106 kPa and 47 kPa
respectively. If 25g of heptane and 57g of octane form an ideal solution. at T(K) the
vapour pressure of solution in kPa 1s :

T(K) 3¢, o79s, @83 Bare ardy adaren Stdm 106 kPa, 47 kPa. 25g 7a)s,
57g w3Jen w60 @Heswd 26)008, T(K) 3¢ @b erdymdso kPa o
Options:

| 66.66
) 76.5

, 50.0
4 60.0

Question Number : 141 Question Id : 1017174781 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

At 27 °C. the osmotic pressure of a solution containing 4g of a non-electrolyte solute in
1.0 L of solution is 0.4 bar. The molar mass of the solute in g mol ™ is :

(R=0.083 L bar K- lmol ™)

27°C 53¢ 4g o wddhgs 3ag8 @ado fo 1.0 L @orded @adddo aEssn 0.4 bar.
S S3rerd $550°3 gmol! &° (R =0.083 L bar K-'mol™)

Options:

| 24.6
492
3 249
, 180

[

Question Number : 142 Question Id : 1017174782 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Standard Gibbs energy change in kJ mol™! for a galvanic cell

A(S}—; Bfa:l} —:-f—‘s%;q) + B(S) that has standard emf of 0.5V is : (F =96500 C mol™)

0.5V o pire emf de A@}JrB?:ﬂ}—:’A?;&ﬁB{;m mexd§ b KNI Ah)

#§5° Srdoy kI mol™! e¢5* Jog? (F=96500 C mol™?)
Options:

| —193.50
, —96.50



, —144.75

, —289.50

Question Number : 143 Question Id : 1017174783 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The rate equation for the decomposition of a compound ‘A’ in terms of partial pressure is
3
given as. 1ate = k(P4 )2 . If the pressure is measured in bar and time in minutes, then the

units of rate constant 1s :

3
$50 A’ Do BoT Ben HDo8Emo F§ hikores®, Ben = K(Py )2 m adedss.

5
&

5
260) bar 0 srerd) ddTroSt Poddiiond Béw QU080 (HIrETeD D32

1

4 bar? mun

Question Number : 144 Question Id : 1017174784 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

Which one of the following is correct?

& 1808 T79S° D6 DO WoSH?

Options:
As,S5 1s a positively charged sol.

L ASESS fjﬂ“ﬁ%‘f;‘: ﬁ:’ﬁ
The refractive indices of the dispersed phase and the dispersion medium differ greatly
m magnitude to observe Tyndall effect.
Sowd H0er) Wraroodl JFR PP, JeHw airsEo A IEASS heaso Hevde

30655 noo whHdomr &omd



Ultra microscope provides information about the size and shape of colloidal particles.

SrE 6500, Ferond Swre D850, wsdsn rd) ddrardo 108
Finest gold sol 1s green in colour.
w8 Srf) TS wHdY) JoihHes™ &otnod

Question Number : 145 Question Id : 1017174785 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In vapour phase refining. metal A 1s purified by Van Arkel method and metal B is purified by
Mond’s process. A and B are respectively.

R (@S FE8085, 570 A & o) &f) S D

HY DIy, A 06050 B en S60dHm

c{je‘i%@féo._ oo B & S0o& ;’:-gs‘i%ejﬂm

44

Options:

s o 5
2 Ti,Zn
3. T1, N1
4. 2T . Fe

Question Number : 146 Question Id : 1017174786 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following phosphorous halide has tetrahedral and octahedral shaped 1ons?

Bod o JRYOR FPDRT” BEr @S 0005w ey irdd wsyden fe wolrdy eotron?

Options:

liquid PCl;
L_Ci;ﬁ PC ].3
liquid PCl;
18655 PCls

L2

gaseous PCl;
rosn PCls
solid PCls
08 PCls

Question Number : 147 Question Id : 1017174787 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical



Potassium permanganate on heating gives potassium manganate, oxygen and X. For which
of the following reactions. X 1s used as a catalyst.

P00 HorrISH & IDIYHd Féiraoo SIS, w§zd ooy X e
Dyoemon. Bob & FEgST X &@ 0o Fhe®d

Options:

2KCI0; ——>2KCT +30,

1250, +0,—>2S0;

L2

, 4HCl + 0,—>2Cl, + 2H,0
4NH, + 50, —>4NO + 6H,0
4

Question Number : 148 Question Id : 1017174788 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The hydrolysis products of BrFs molecule are

BrFs w0 2003000 e \amen

Options:

. HBr.HOF
, HF _HBIO,
, HF .HBIO,
, HF .HBIO,

Question Number : 149 Question Id : 1017174789 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

The magnetic moment of [CoFg]* as per spin only formula (in BM) is

E550m0 w0 @Eriogo Fdersy 0 [CoFg]’™ @ng) wohimod Erdso Hend
(BM ee5%)

Options:

. B8
5.92
, 2.84
. 4.90

[



Question Number : 150 Question Id : 1017174790 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The electronic configuration of a metal ion in its complex is [Ar]3d*. For this metal complex.
Ay < P (P = energy required for electron pairing in a single orbital). The distribution of
electrons in the complex.

q}.

8 S5 5ES0s° &% wosrs QOED DT gdB0 [Ar]3d* B FT08 Ag <P
(P = 2.8 ©dyérde® QLLLS‘:G 2SEPELE @IHGH I§) & DoHhos” .-:JE}LEE:EE S lel=y
Options:

e 1
1 UZE) (eg}
UZgJE (Eg)‘_
G0 e,
4 Uzgjl (eg .;3

Question Number : 151 Question Id : 1017174791 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following statements are correct ?

a.  Natural rubber becomes hard at high temperature

b.  Neoprene s a polymer of 2-chloro —1. 3—butadiene
¢. Nylon6. 61s apolyamide fibre

d.  Buna-Sis anexample of a homopolymer

Bob T3S JBES DHGeen DD?
a. e dend @fs eaflid 58 N800
[-¥ Ea ] %
b. ABrES, 2-§6°-1, 3-angiadond Bng, 86
C. 3Jord 6, 6 a8 rOIDE D
d engs-S dersod >d0E Goirde

Options:

b.c

a.c.d

3 bd

d. C

1.

12



Question Number : 152 Question Id : 1017174792 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following statements are correct ?

a.  Deficiency of vitamin K results in increased blood clotting time.
b.  The sources of vitamin B, are milk and liver

c.  Hexapeptide has six peptide bonds

d  Improper functioning of adrenal cortex results in hypoglycemia.

808 eIt HOES DG DD?
a DL K SHo S0 680 6 L8 I8 S D000 HHrEod
b. &reo Sobosn 856 JLrdnd B, Sre Foren
& ?FS‘;}%}%E&‘S* Eled 13_5_35 20T OV0LTON
d J@oS 59§ Hom HIToHBL00E TTHROII0IT SH300
2 i o

Options:

1 b.c

5 BE

; bd
4 a.b.d

Question Number : 153 Question 1d : 1017174793 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify an artificial sweetener (A) and tranquilizer (B) from the following,

Bod eis® g8 & sd¥o (A) S0t (Ero8g@al (B) & hfowod

Options:

A B
O
O O
NH
5/ H,N KD/\V\DX NH,
252



—_— O

A B
: NHNHCH(C Hs),
A B

O O

S
N
D/’\O

Question Number : 154 Question Id : 1017174794 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following statements are correct ?

a.  Aspartame is more sweeter than saccharin

b.  Shaving soaps contain glycerol to prevent drying

c.  Salt of sorbic acid 1s used as a food preservative

d  Norethindrone 1s an example of an antifertility drug

80D ¢3¢ BB DSGwen AD?
a @Dl 80 508 &S 6D Fod

4]

b. &0l &6 F000FE0T GodtrIsmd DoN Baned Adda 80 Gotron
C. 0§ &) 0I897) 0 ITTY DOTEEOT RS R

d 20RIED HEIGES 5008 & mirde
Options:

| a.c. d

5, bye.d



3. C.'c

4 c.d

Question Number : 155 Question Id : 1017174795 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

Consider the following reaction

Bl-
CH;— CH,— CH-CH; —2*E%%, CH, - CH,- CH = CH, +
I
CH;— CH = CH- CH;
Il

Which of the following statements are correct ?
a.  I1sthe major product of the reaction
b.  IIis the major product of the reaction
c.  Formation of [ is in accordance with Saytzeft’s rule
d  IIis more stable because it 1s more substituted
Sod $dgi HBIDohHn
Br
CH;—CH,— CH-CH; —=%*255 , CH;—CH,~ CH=CH,+
I

CH,—- CH = CH-CH,
I

§00 TS 2D DS DIGeen?

a.  $0g5° [ Hers edhdo

b. «dgs® Mpars &ddo

e DEBED VoHH0FHD00D IEYED

d IToe8 REDHSE. s°0w0 ©b WhHEm HETHEIH

Options:
| a.c¢

» b.c
; a.d



4 b.d

Question Number : 156 Question Id : 1017174796 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The compound which exhibits both geometrical and optical 1somerisim 1s

G TR S00AI0 HE Gy L;_":--ﬁ@;oé 9200550

Options:
4 — Bromopent — 2— ene

| 4 —@araod - 2- 83
3 —Bromo — 2 —methylbut — 1 —ene

3 -3 — 2 —0pdargd — 1 — &

1 — Bromobut — 2— ene

l — 5" 3rergdh — 2— 869

3 — Bromo — 2 — methylpropene

4 3B — 2 - PO

L1

Question Number : 157 Question Id : 1017174797 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What are A and B in the following reactions.

Bod F6gwes® A, B en 22?

CH;
I
CH;-CH,-CH,-O- C—CH,-CH;——>A+B
I
CH,
Options:
A B
CH;
I
CH;CH, 1 HO- tli'—li“HECH3

CH;



A B
CH,
CH;CH, I H,C—0—- C—CH,CH;
) CH;
A B
CH3
I
CH,CH,CH,OH I- C—CH,CH;
I
3 CHs
A B
CH;
CH;CH; IH, C—O—- C—CH,CH;
CH,

4

Question Number : 158 Question I1d : 1017174798 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify A, B and C in the following reactions :
8od Fogoes® A, B, C o mgofhn

273-283K H; O

Toluene+ A+ B >C > Benzaldehyde
NI Board s
Options:
A B &

CrO; (CH;C0O),0 O/ CH(OCOCH;3),



A B &
OH
CH\
C10,CL, CH,COCI @’ COCH3
A B C
v, (CH;C0),0 @,C‘HEOCDCHE_
3.
A B C
AICL CH,COOH O/C‘(DCOCH3)3
4.

Question Number : 159 Question Id : 1017174799 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What are A, B and C in the following reactions ?

Bod Hdgees® A, B Hodosn C o HjoHHm

A
R—CN > R-CHO
B |
C
R-CO,C,Hs > R—CHO
Options:
A B C

) K.C,0; i) SnCL|HCI i) AIH(G-Bu),
i w i) H;0% ii) HO



A B C
1)  SnClL|HCI 1) AlH(G-Bu), 1) DIBAL-H
,i) H Th i i) HO i1) H,0
A B C
H, [Pd-BaSO, ALO; i)  SnCLHCI
; i) H0
A B C
ALO; i)  SnClL,|HCI i) DIBAL-H
" ii) H,0° i) H0

Question Number : 160 Question Id : 1017174800 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The number of resonance structures. aniline and anilinium ion can have are respectively

DO $0cEw IVOVCH WOIrS DN, 0FIY) AT e Sowg SEOT
Options:

1 2.5

, 4,
-
3. -jlu

4.9
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